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Exercice 1

Compléter avec un nombre décimal :

1. 4 _
> L2 x 100
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»3. 5 x 10044 x
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1000 <%

Exercice 2

Compléter avec un nombre décimal :

1
»1. 3><1+8><1—0+9><10:

1
2. Tx 10004+ 7% —+5x1=
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Exercice 3

Compléter avec un nombre décimal :

1
1. 6x — +3x 10+ 2
Lo OX g T e

1000

»2. 1X

1000

»3. 6 x1000+5 x + 3 x

1000

Exercice 4

Compléter avec un nombre décimal :

1. 1x1+9x100+09 -
e T
»2. 2% 100046 x 100 +4 x 10 =

3. 5x10+3x100+7 _
e R Ti

Exercice 5

Compléter avec un nombre décimal :

»1. 7x 100+ 5 x 1000 + 6 x 00 =
»2. 4x100+1x10+1x 1000 =

1
3.4 x —+4x1 100 =
[ ><100+ x 145 x 100

+4 x 1000+ 5 x 100 =
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